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... Give a little introduction about yourself ...
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The Covid-19 Pandemic in England

Covid-19 deaths from March to October
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The Covid-19 Pandemic in England

Real Simulation
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The Law of Large Numbers — Kruskal Count
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The Law of Large Numbers — Kruskal Count
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The Law of Large Numbers

Observation:
The larger the number of cards we use,
the more likely it is to end on the same card.
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The Law of Large Numbers

Observation:
The larger the number of cards (1) we use,
the more likely it is to end on the same card.

Generalization:
The larger the number of trials (lim,, ...),
the more likely it is that their sample average (x) is equal
to the expectation ().
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The Law of Large Numbers

Observation:
The larger the number of cards (1) we use,
the more likely it is to end on the same card.

Generalization:
The larger the number of trials (lim,, ...),
the more likely it is that their sample average (x) is equal
to the expectation ().

Pr(lim, oo X = pu) =1
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The Law of Large Numbers

Generalization:
The larger the number of trials (lim,, ...),
the more likely it is that their sample average (x) is equal
to the expectation ().

Bl X ] =

The probability that the sample average is to the expectation, if
you have an infinite number of trials, is one.
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The Law of Large Numbers

Generalization:
The larger the number of trials (lim,, ...),
the more likely it is that their sample average (x) is equal
to the expectation ().

Bl X ] =

The probability that the sample average is to the expectation, if
you have an infinite number of trials, is one.

— The End — "
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Central Limit Theorem

... Coming soon ...
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